MULTIMEDIA AND WEB TECHNOLOGY

Time allowed : 3 hours Maximum Marks : 70
QUESTION PAPER CODE 89/1

1. (a) Identify the following views used to create a database in Access. 1
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{810 Text Book Identification Number

| |BNAME Text Book Name

' |apurDate Date/Time Date on which the Baok was purchased 3
BPublish Text Publisher of the book

2

P Bl | BNAME - | BPurDate - .BPublish .-
'B03  ActionScripting | 10-08-2009 Taxmall
1804 Flash for Dummies 11-08-2009 Penguire
AL . AccessMadeEasy . 10-10-2010 Harping
(b) Illustrate the usage of foreign key with the help of an example. 2

(¢)  Study the table WEBSITES given below and answer the following questions:

Table: WEB SITES
SITE_ID | SITE_CAT SITE_LAUNCH SITE_VOTES
S100 Commerce 11/11/2005 2S000
S101 Government 10/06/2007 15000
S102 Education 07/02/2008 45000
S103 Organisation 11/10/2008 42000
(1)  Name the field which can act as the primary key in the table WEB- 1

SITES.

(2)  Suggest the data types that should be used for each of the fields in the
table WEBSITES. 2
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(d

(e

Expand the term MPEG. What kinds of files are stored using the MPEG
format?

Mention any two areas where virtual reality is being used.

Answer the following questions based on Macromedia Flash.

(a)
(b)
(c)
(d)
(e)

What is the use of the onion skinning feature?

Name any two types of tweening.

Enumerate the benefits of vector graphics over bitmap graphics.
What is the use of the Publish Preview option?

Observe the image given below and do as directed:

The image on the left hand side shows the position of the object at frame 1.
The image on the right side shows the position of the object at frame 25.

Assume that the image is stored in the library by the name robot. Also note
that the colour and size of the image remains the same.

The arrow shows the path followed by the robot to reach from position at
frame 1 to the position at frame 25.

Write the procedure and property settings for animating the above scenario.

Answer the following questions based on HTML.

(@)

(b)

Name the three structural tags of HTML page and explain the usage of anyone

of them.

Write the HTML code to generate the web page in the format as shown:
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bonsider the following points while writing the HTML code:

(1) Title of the page should be "eGames",

(2)  Background colour of the page should be "Pink",

(3) Textcolour of main heading should be "red" and font should be "Arial Bold".

(4) Imageused in the pageis "game 1.jpg".
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(5) Use the concept of nested lists to create the given lists.

(6) The table should have a border of size 5 and color blue and the spacing
between adjacent cells is 15 pixels.

(7)  The bottom image (link.jpg) and the text "Details of the Games" are both
links' to the page details.html.
Answer the following questions based on ASP.
(@) What do you understand by the term ASP engine? 1

(b) How do youretrieve information from a form that is submitted using the post
method? 1

(c) How is the AddNew method of the Recordset object different from the
Update method of Recordset object? 2

(d) Identify the following:

(1) The ASP object which provides access to methods and properties on
the server. 3

(2) The ASPcomponent used to display banner advertisements on a web
page.

(3) The method of the Recordset object that is used to move the cursor
directly to the last record in the recordset.

(e)  Give the output of the following statements: 3
(1) Response.write (NOT TRUE AND (TRUE OR FALSE))

(2) Response.write(RIGHT("Let's Learn and Experiment",
LEN("LEARN")))

(3) Response.write«5-3)*(4/2-3))

Answer the following questions based on ASP:

(a) Expand the term PWS. 1
(b) Differentiate between Counter and Page Counter components of ASP. 2
(c)  Predict the output of the following code: 2

<Script Language="VB Script">
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6.

(d)

©)

DimA,B

A=1

B=10

Do While A<5
Document. Write (A + B)
A=A+1

B=B-2

LOOP

</Script>

Rewrite the following code after removing errors with each correction under-
lined:

<BODY>
The login name entered by the user s :
<%
pass = RESPONSE.QUERY STRING ("password") %>
The password is :
<%
if pass <> "enter" then
REQUEST.WRITE (Invalid)
Otherwise
RESPONSE.WRITE ("Valid")
end
0>
</BODY>

Write the ASP code that will read the text file called multi.txt, and display the
alternate lines contained in the file.

Answer the following questions based on VBscript :

(@)

Name the event to be used in the following situations:
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(b)

(©

(1)  To perform an action when a button is clicked.
(2) To perform an action as soon as the contents of a text box change.

Rewrite the following code using DO WHILE instead of FOR LOOP without
affecting the output:

<HTML>

<BODY>

<SCRIPT LANGU AGE="VBSCRIPT">

DIM Num, Flag

Flag=0

Num =10

FORA =2 TO Num/2
Flag=Flag +1

NEXT

</SCRIPT>

</BODY>

</HTML>

Point out the errors in the following code and rewrite the code with the
corrections underlined:

<HTML>

<BODY>

<SCRIPT ="VB SCRIPT">

DIM A, B, C, Count

A=0

B=1

FOR Count =3 TO 6 INCREASE 1
C=A+B

document. Write (C)
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A=B

B=C

LOOP
</SCRIPT="VBSCRIPT">
</BODY>

</HTML>

(d)  Write the HTML code for creating the form shown below:

First Number | |

Second Number | |

Divisible | |

Check Divisibility

Write the embedded VBscript code for the click event of the 'Check Divisibility'
button such that it displays 1 if the First Number (number input in the first text box)
is divisible by the Second Number (number input in the second text box) and 0
otherwise in the third text box.

For example: if the user inputs 10 and 5 in the first two text boxes, then 1 should be
displayed in the third text box, on the click of the "Check Divisibility" button.
Answer the following questions based on the unit Web Technologies:
(a)  Define the term Firewall.
(b) Expand the term FSF.
(c)  Whatare the following software used for?
(1)  Open Office
(2) MySQL
(d) Differentiate between Twisted pair cable and Optical fiber cable.

(e)  Radio City has set up its new center at Mumbuai for its office and broadcasting
activities. It has 4 blocks of buildings as shown in the diagram below. Answer
questions (i) to (iv) in context of the following layout of the four blocks:
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RadioCity A

RadioCity B

RadioCity C

RadioCity D

Center to Center distance between various blocks.

RadioCity A to RadioCity B 60m
RadioCity B to RadioCity C 75 m
RadioCity C to RadioCity D 175 m
RadioCity A to RadioCity D 250 m
RadioCity B to RadioCity D 100 m
RadioCity A to RadioCitv C 75 m

Number of Computers in each wing

RadioCity A 50

RadioCity B 250

RadioCity C 50

RadioCity D 100
M

2
3)
4)

Suggest a suitable cable layout to connect all the offices and name the topology

used.

Suggest the most suitable place to house the server with proper justification.

Where and why repeaters should be used?

If the organization needs to link this branch office to another office situated in
adistant city (around 1050 Km) away where cable connection is not feasible,
then suggest an economic way to connect it with reasonably high speed?

431




QUESTION PAPER CODE 89

(@) Whatis the degree and the cardinality of the relation EMPLOYEE given below?
TABLE: EMPLOYEE
EID EName EJoinDate EExper EPhone
EO1 Shayamli 10/08/07 10 22222101
E02 Kushambha 19/08/07 5 22222202
(b) Differentiate between design view and datasheet view with respect to a database.
(c) Latest Hit Station Video library stores data of all available DVDs on its server
in a table named HitMovies in Access. Study the relation HitMovies given
below and answer the following questions:
TABLE: HitMovies
MID | MName Director ReleaseDate | Releasing
Company
MO1 | London Dreams Vipul Shah 10/08/09 Joshua
MO2 | Wake Up Sid Ayaan Mukherjee 19/08/09 Trinayan
MO3 | What's Your Rashee | Ashutosh Gowariker| 18/08/09 Harem
MO04 | Aladdin Sujoy Ghosh 15/08/09 Chahata
(1)  Name the field which can act as the primary key in the table HitMovies.
@) If the Release details of the movie have to be stored in a separate table
(named RELEASE), then identify any two fields from the above table
which should be included in the table RELEASE.
@) What type of relationship exists between the table HitMovies and the
newly created table RELEASE?
(d) What are the advantages of Flash movie over animated GIF movie?
(e)  Give the full form of BMP.
(f)  Write a short note on SMS.
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2. Answer the following questions based on Macromedia Flash:

(@)

(b)
(©)
@
(e)

The normal layer lets you add content in a flash movie that moves along a
straight path. Name any two types of layers which can help you to manipulate
the content on a normal layer and improve the animation.

What is the use of dividing a movie into separate scenes?
Enumerate the benefits of frame by frame animation over tweening animation.
Differentiate between Exporting and Publishing a Flash movie.

Observe the image given below and do as directed:

[ ' TEN A

° The image on the left hand side shows the position and size for frame 1.
° The image on the right side shows the position and size for frame 25.

° Assume that the images of butterfly and flower are stored in the Flash
library by the name butterfly and flower respectively and the colour and

size of the image remains the same.

° The curve shows the path followed by the butterfly to reach from frame
1 to frame 25.

Write the procedure and property settings for animating the above scenario.

3. Answer the following questions based on HTML :

(@)
(b)

Differentiate between <HR> and <BR> tags.

Write the HTML code to generate the web page in the format shown:
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Consider the following points while writing the HTML code:

@i  Title of the page should be "eCards".
@) Background colour should be "Purple".
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(1if)

(iv)
V)

(vi)
(vii)

Text style of the main heading should be "Aria! Bold" and colour should be
red.

Image used is "cards.jpg".

Table should have a 5 pixel thick border of colour green and the spacing
between cell content and border is 15 pixels.

Use the concept of nested lists for creating the specified lists.

The bottom image (link.jpg) and the text "Personalize the Cards" are links to
the page "person.html".

Answer the following questions based on ASP:

(@)
(b)

(©
(d)

(e

How is an ASPfile different from a simple HTML file?

Which method of the RecordSet Object will you use to move the cursor
directly to the first record in the record set?

How is the Connection object different from the RecordSet object?
Identify the following:

(1)  The ASP object which stores information needs for a particular user
session.

@)  The ASPcomponent used to keep track of the number of visitors who
have visited the web page.

@) The Request object collection that will be used to retrieve information
submitted by the user in a form using GET method.

Give the output of the following statements:
(1)  Response.write(FALSE AND NOT TRUE OR TRUE)

@) Response.write(LEFT("With Multimedia",5)
& UCASE ("Life is Fun"»

@) Response.write((4 - 3)*(6/2-3))

Answer the following questions based on ASP:

(@)
(b)

Expand the term IIS.

Differentiate between AdRotator and ContentRotator components of ASP.
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©)

(d)

Predict the output of the following code:

<Script Language="“VBScript” >

DimA,B

A=2

B=20

Do WhileA<6
Document.Write(A+B)
A=A+1
B=B-2

Loop

</Script>

Rewrite the following code after removing errors with each correction under-
lined:

<BODY>
The login name entered by the user s :
<%
pass = RESPONSE.QUERYSTRING (“password”)
0>
The password is :
<%
If pass <> “enter” then
REQUEST.WRITE (Invalid)
Otherwise
RESPONSE.WRITE ("Valid")
end
0>
</BODY>
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(e)  Write the ASP code that will read the text file named friends.txt, count the
number of lines in the file and then display the same.

Answer the following questions based on VBScript :

(a) Name the event to be used in the following situations:
(1)  Toperform an action when the button gains focus.
@) To perform an action when a button is clicked.

(b) Rewrite the following code using DO WHILE instead of FOR loop without
affecting the output:

<HTML>

<BODY>

<SCRIPT LANGUAGE ="VBScript" >

DIM A, B, C, Count

A=0

B=1

FOR Count =3 TO 10 STEP 2
C=A+B
Document.Write (C& " ")
A=B
B=C

NEXT

</SCRIPT>

</BODY>

</HTML>

(c)  Give the output of the following code:
<HTML>
<BODY>

<SCRIPT LANGUAGE="VBSCRIPT" >
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1.

(d

Answer the following questions based on the unit Web Technologies:

(@)
(b)

DIM Num, Flag
Flag=0
Num=10
FOR A =2 TO Num/2
IF Num MOD A =0 THEN
DOCUMENT.WRITE (Num+ 1)
ELSE
DOCUMENT.WRITE (Num - 1)
END IF
NEXT
</SCRIPT>
</BODY>
</HTML>

Input Number |

Check Divisibility by |

Divisibility Result

Write the HTML code for creating the above displayed form. Write the
embedded VB Script code for the click event of the 'Divisibility Result' button
such that it displays a message box based on whether the number input in the
first textbox is divisible by the number input in the second textbox according

to the following criteria:

° If number is divisible then message displayed is "Wow! I belong to

your family"

° If number is not divisible then message displayed is "Let's look for my

friends"

Define the term Cyber Law.

Expand the term WLL.
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(©

(d)
©)

What are the following software used for?

(1)  Apache Tomcat

i MySQL

Differentiate between Twisted pair cable and Co-axial cable.

ProActor School of Acting in Mumbai is setting up the network between its
different wings. There are 4 wings named as SENIOR(S), JUNIOR(J),
ADMIN(A), and HOSTEL(H).

Distance between various wings are given below:

Wing Ato Wing S 100m
Wing Ato WingJ 200m
Wing A to Wing H 400m
Wing S to Wing J 300m
Wing S to Wing H 100m
Wing J to Wing H 450m

Number of computers in each wing is as given below:

WingA 10
Wing S 200
WingJ 100
WingH 50
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@

(i)
(1if)
(iv)

Suggest the most suitable topology for connecting these wings.
Suggest the most suitable place to house the server. Justify your choice.
Where and why should repeaters be used ?

The second branch of the school situated in a hilly region is to be linked with
its headquarters in Mumbai. Suggest the most economical way to connect it.
The organization is ready to compromise on the speed of connectivity.
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M ar king Scheme— Multimedia and Web Technology
(SUB CODE -067)

-
General Instructions::
1 Theanswersgiveninthemarking schemeare SUGGESTIVE, Examinersarerequested to
award marksfor dl dternative correct Solutions/ Answers conveying thesimilar meaning
1 InVBScriptand ASP, ignorecasesengtivity for identifiers
\_

QUESTION PAPER CODE 89/1

1. (8 Identifythefollowingviewsused to createadatabasein Access.

: ] als |Text | Book |dentficatign Number I =
‘ ti:ij;i;‘__‘__ I:k:ﬂ'«r-}_ _LI_.::_::;:..H:::KH.L\. Eu:clll wu;.wr-:rLuq _-__l__ I_ _I:
l 1 jgnu_ﬂu_h__ _I I | l '——1 Puhlu_rler‘.lfthT_ka — !_ BT J— X _l 2 _'
1 i iy S e |~'-I-'-..-|'-|':- S5y 4 *l_ e L_
(2 e AP TR
i | BIp F ‘ BHi*ME | ~| BPurDate| - |BPublish |- |
| 1B03 ptin liﬁa j
Ebﬁ_ ‘_ﬂa scgumnﬁief I—— pE'ITKLIIrE R l
BP& | | Access Mpde Egsy | 10-10-2010 Harping L]
| | | | | (<P ! ! |

e e
Ans i)  DesgnView

i)  DatasheetView
(%2 mark for naming each view correctly)
(b) Hlustratethe usage of foreign key with the hel p of an example.

Ans Foreign key isan attribute of onerelation whose values arerequired to match those
of the primary key of some other relation. Theforeign key isused torelatetwo or
moretables. For examplein thetablesgiven below, Item codeactsasaforeign key
for thetable Sales.
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http://www.pdffactory.com

TebleITEM v

Item Name Price Item Code | Vauesof thisattribute
Iron 525.00 1002 match theval ues of the
HandMixie 675.50 1003 primary key of tableI TEM
Table: SALES i

Cust No Bill No Sale Date | Quantity | Item Code
1432 1022 7/12/2008 | 2 1002

(2 marksfor correctly explaining the concept with the help of an example)

NOTE:

1.  Full marksto beawarded in casethe concept isexplained only with the help
of anexample.

2.  1maktobeawardedif only thedefinitionisgiven

(0 Studythetable WEBSITES given below and answer thefollowing questions:

Tablee WEB SITES

SITE_ID SITE_CAT SITE_LAUNCH SITE_VOTES
S100 Commerce 11/11/2005 25000
S101 Government 10/06/2007 15000
S102 Education 07/02/2008 45000
S103 Organisation 11/10/2008 42000

Ans (1)

(1) Namethefield which can act asthe primary key inthetable WEB-
SITES.

(2) Suggest thedatatypesthat should beused for each of thefieldsinthe
tableWEBSITES.

SITE_ID can act asthe primary key

(2 mark for correctly naming thefield)

(2) SITE_ID- Text

SITE_CAT - Text
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ANs

Ans

Ans

SITE LAUNCH - Date/Time
SITE VOTES- Numeric
(*2mark for correctly naming the data type for each field)

(d) Expandtheterm MPEG What kinds of filesare stored using the MPEG
format?

MPEG standsfor Moving Picture Experts Group OR Moation Picture Experts Group.
Thisformat isused to save moviefileswhich cannot befurther edited.

(1 mark for the correct expansion)

+ (1 mark for mentioning the correct file usage)

(8 Mentionany two areaswherevirtua redity isbeing used.

Useful gpplicationsof VR include: :
Traininginavariety of areas(military, medica , equipment operation, €tc.),
Education,

Designevduation (virtua prototyping),
Architectura walk-through,

1.
2
3
4
5. Simulation of assembly sequencesand maintenancetasks,
6. Assstancefor thehandicapped,

7 Study and treatment of phobias (e.g., fear of height)

8 Entertainment

9 Gaming (or any other vaid application)

(2 mark:each for mentioning any two areas correctly)

Answer thefollowing questions based on MacromediaFlash.
(& Whatistheuseof theonion skinning feature?

Theonion-skinning featuredlowsthe designer to seemultipleframesand how their
movementsrel ateto the current frame. When creeting an animation, thisfeaturecan
beagreat help to seewhat the objectsin the preceding and succeeding frameslook
like

(2 mark for explaining the correct usage)

443


http://www.pdffactory.com

(b) Nameany twotypesof tweening.
Ans Motion Tweening, Shape Tweening, Tint Tweening
(¥2mark each for correctly naming any two types of tweening)

(00 Enumeratethebenefitsof vector graphicsover bitmap graphics.

Ans Vector Graphics Bitmap Graphics
1. Vector graphicsare made-up of 1. Bitmapgraphicsaremadeup
mathematical expressons of colored pixels.
2. Fleszesareusudlyvery smal. 2. Fleszesareusudlyverylarge.

3. Thequdity of Vector graphicswill | 3. Bitmapgraphicswill sufferin
not beaffected onrelizing. qudity if resized.

(2 marks for mentioning anyone benefit of vector graphics over bitmap
graphics)

(d) Whatistheuseof thePublish Preview option?

Ans ThePublish Preview option alowsoneto preview themoviein abrowser before
publishing to seeif themovieisappearing fine.

(2 marksfor explaining the correct usage)

(¢ Observetheimagegivenbelow and do asdirected:

| Theimage ontheleft hand side showsthe position of the object at frame 1.
1 Theimage ontheright side showsthe position of the object at frame 25.

| Assumethat theimageisstored inthelibrary by the namerobot. Also note
that the colour and size of theimageremainsthe same.
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ANs

Ans

| Thearrow showsthe path followed by the robot to reach from position at
frame 1 tothe pogition at frame 25.

Writethe procedureand property settingsfor animating the above scenario.
Thefollowing stepshaveto befollowed to animate the given scenario:

| Select frame 1 .from thetimelineand drag therobot image onthe stagefrom
thelibrary.

| Usingthearrow tool, select theimageand placeit on theleft hand side.
| Select frame 25 from thetimelineand Select Insert —Keyframe

| Usingthearrow tool, sdect theimage and position it on theright hand sde of
the stage a thedesired location

| Select al framesfrom 1to0 25.
1 Right click themouse button and Select Create M otion Tween.

1 Sdect thelayer contai ning themotion tween. Right click and select Add Motion
Guide.

| Using the pencil tool, draw thepath of motton asshownintheimage. ORAny
other equivaent method.

(%2 marks for each step)

Answer thefollowing questionsbased onHTML.

(@ Namethethreestructura tagsof HTML page and explain the usage of anyone
of them.

Threestructura tagsare: <HTML>, <HEAD>and <BODY >
Usage:
<HTML> - marksthebeginning and theend of the html file

<HEAD> - contains, information about initid |oad parameters of thewebpagelike
title, scripts, styledefinitionsand document descriptions

<BODY > - containsthevisible content of thewebpage
(¥2mark each for naming the three structural tags)

+(¥2mark for correctly explaining the usage of anyone of them)
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(b) WritetheHTML codeto generate theweb pagein theformat as shown:
Condgder thefollowing pointswhilewritingthe HTML code:

(1) Titleof thepageshould be"eGames',

(2) Background colour of the page should be"Pink",

(3) Textcolour of main heading should be"red" and font should be™Aria Bold".
(4) Imageusedinthepageis”"gamel.jpg".

(5) Usetheconcept of nested liststo creastethegivenlists.

(6) Thetable should have a border of size 5 and color blue and the spacing
between adjacent cellsis 15 pixels.

(7) Thebottomimage (link.jpg) and thetext "Details of the Games" are both
links to the page details.html.

T L] T T T 1] | O o
8 «Games - Mol Firglyig it PR il

fHe Edit Yeew Higiory Hookmeds Jook Halp

T -~
o My eGames hitml = | S < -

E-GAMES

|
Games Offarad |
1 Individal Games i
& Speling Bee l
& Frma Dehine * l|

® Mpds
1. Group Games I‘
@ Chess i |
o Bilkwds |
o Soonker

You ean also buy CD of follywing games trough o site
PRICE LIST ]

iﬂame WNamie iPriu
==l = B St
s [ 306 - 1
[Snooker  [Rs 400

@)

DETAILS OF THE GAMES
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Ans <HTML>
<HEAD> <TITLE>eGames</TITLE></HEAD>
<BODY BGCOLOR="PINK">
<FONT FACE="ARIAL" COLOR ="RED">
<H2ALIGN = CENTER> E-GAMES </H2></FONT>
e-GAMESisawebsiteoffering new and trendy gamesfor all ages.
<IMG SRC="game.JPG" height =150 width = 150ALIGN ="MIDDLE">
<OL><FONT FACE ="ARIAL" SIZE = +1><B> Games Offered </B>
<LI>Individua Games
<UL TYPE="square">
<LI>SpellingBee
<LI>ZumaDeuxe
<LI>Mario
</UL>
<LI>Group Games
<UL TYPE="circle">
<LI>Chess
<LI>Billiards
<LI>Snooker
</Ul>
</OL>
You can aso buy CDsof following gamesthrough our site
<TABLEALIGN=CENTER BORDER=5BORDERCOLOR="Btuge"
CELLSPACING=15>
<CAPTION>PRICE LIST </CAPTION>
<TR>
<TH>GameName</TH>

<TH> Price</TH>
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<TR>
<TD> SpdlingBee
<TD>Rs. 200
<TR>
<TD>Billiards
<TD>Rs. 300
<TR>
<TD> Snooker
<TD>Rs. 400
</TABLE>
<BR>
<CENTER>

<A HREF="details html"> <IMG SRC="link jpg" height=50 width=50> <BR>
DETAILSOF THE GAMES</A>

</FONT>

</BODY>

</HTML>

(%2 mark for correct use of <HTML> and <BODY> tags)

+ (Y2 mark for correct use of <TITLE> tag)

+ (*2 mark for body background colour)

+ (Y2 mark for mentioning the correct font type and color)

+ (¥2mark for displaying the heading correctly in center)

+ (1¥2mark for correctly creating the nested list (¥2 mark for each list))
+ (%2 mark for making table border 5 pixel thick with border color blue)
+ (¥2mark for making table cellspacing as 15 pixels)

+ (Y2 mark for giving table <CAPTION>)

+ (1 mark for correctly crea ting the table using < TR> and < TD> tags)
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Ans

Ans

Ans

ANs

+ (*2mark for displaying the links in center)

+ (Y2 mark each for correctly creating the link on the image and the text)

Answer thefollowing questionsbased on ASP.
(& What doyou understand by theterm ASPengine?

TheASPengineisaspecial program named ASPdll wheredl theserver sdescripts
areexecuted and converted to HTML code.

(1 mark for correct explanation)

(b) How doyouretrieveinformation fromaform that issubmitted using the post
method?

WeusetheForm collection of theRequest object to retrievetheinformation submitted
using the post method.

(2 mark for the correct answer)

(c) HowistheAddNew method of the Recordset object different fromthe
Update method of Recordset object?

TheAddNew method adds anew blank record in the database whereasthe Update
method savesthe newly written record in the database permanently.

(2 marks for mentioning anyone correct difference between the two)
(d)  Identifythefallowing:

(1) TheASPabject which provides accessto methodsand propertieson
theserver.

(20 TheASPcomponent used to display banner advertisementson aweb
page.

(3) Themethod of the Recordset object that isused to movethe cursor
directly tothelast recordin therecordset.

1.  Server Object
2. AdRotator 'Component
3. MoveLast

(2 mark for each correct answer)
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ANs

ANs

Ans

C)

)
i)
i

Givetheoutput of thefoll owing statements:

(1) Responsewrite(NOT TRUEAND (TRUE OR FALSE))

(20 Response.write(RIGHT("Let's Learn and Experiment”,

LEN("LEARN"))

(3) Response.write«s-3)* (4/2-3))

Fase
imant
-2

(2 mark for each correct answer)

Note: ¥2 mark to be awarded for each part if the steps showing theworking are
correct but thefina outputiswrong

Answer thefollowing questionsbased onASP:

@

Expand theterm PWS.

Personal Web Server

(1 mark for the correct expansion)

(b)

Differentiate between Counter and Page Counter components of ASP,

Counter

Page Counter

Counter component can be used for
creating countersthat can beused
to count anything such as, the
number of visitorstotheWeb site,
thenumber of timesan
advertisement hasbeen clicked

etc.

The Counterscomponent is
manually set using the Set method.

TheHTML <OBJECT>tagisused
to create aninstance of the Counters
component inthe Global .asafile.

Countsthe number of timesapage
has been viewed.

Page Counter componentisan
automatic process.

Aninstance of the PageCounter
object is created on apage by
using the Server.CreateObject
method.
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iv. Only oneinstanceof the Counter iv. Any number of instancesof the
component can becreated. This page counter object can be created.
single Countersobject can create
any number of individua counters
with different names.

(2 marks for anyone correct differentiation point)
(o Predicttheoutput of thefollowing code:
<Script Language="VB Script">

DimA,B
A=1
B=10
DoWhileA<5
Document. Write(A + B)
A=A+1
B=B-2
LOOP
</Script>
Ans 111098
(¥2mark for each correct number)

(d) Rewritethefollowing codeafter removing errorswith each correction under-
linedt:

<BODY>
Thelogin nameentered by theuser is:
<%
pass= RESPONSE.QUERY STRING ("password") %>
Thepasswordis:
<%
if pass<>"enter" then
REQUEST.WRITE (Invdid)
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Otherwise

RESPONSEWRITE ("Vdid")
end
%>

</BODY>

Ans<BODY >

ANs

Thelogin nameentered by theuser is:
<%
pass= REQUEST.QUERY STRING("password") %>
Thepasswordis:
<%
if pass<>"enter" then
RESPONSE. WRITE("Invalid")
ELSE
RESPONSEWRITE("Vdid")
EndIF
%>
</BODY>
(Y2mark each for correcting any four errors)

(& WritetheASPcodethat will read thetext file called multi.txt, and display the
dternatelinescontainedinthefile.

<%
Set Fobj=Server.createobject(" Scripting.FilesystemObj ect”)
Set mFile=Fobj.OpenTextFile("multi.txt")
DowhileNOT mFile AtEndOf Stream
Response Write(mFile.ReadLine}

Response Write ("<BR>")
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mHleReadLine
Loop
mHleclose
%>
(*2mark for correctly creating the file system object)
+(%2mark for opening thefile)
+(¥2mark for the loop)
+(*2 mark for reading theline
+(¥.zmark for displaying theline)

+(Yzmark for closing the connection)

Answer thefollowing questionsbased on VBscript :
(& Nametheeventtobeusedinthefollowing Situations:
(1) Toperformanactionwhenabuttonisclicked.
(2) Toperforman action as soon asthe contents of atext box change.
i) OnClick
i)  OnChange
(1 mark for each correct answer)

(b) Rewritethefollowing codeusing DO WHILE instead of FOR LOOP without
affectingtheoutput:

<HTML>
<BODY>
<SCRIPT LANGUAGE="VBSCRIPT">
DIM Num, Flag
Flag=0
Num =10
FORA =2TO Num/2
Flag=Flag+1
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NEXT
</SCRIPT>
</BODY >
</HTML>
Ans <HTML>

<BODY>

<SCRIPT LANGUAGE="VBSCRIPT">

DIM Num, Flag

Flag=0

Num =10

A=2

DOWHILEA<=Num/2

Flag=Flag+1
A=A+l
LOOP
</SCRIPT>
</BODY>
</HTML>

(*2mark each for writing the mentioned four underlined lines correctly)

(o Poaint out theerrorsin thefollowing code and rewrite the code with the
correctionsunderlined:

<HTML>

<BODY>

<SCRIPT ="VB SCRIPT">
DIMA, B, C, Count

A=0

B=1
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FOR Count =3 TO 6 INCREASE 1
C=A+B
document. Write (C)
A=B
B=C
LOOP
</SCRIPT="VBSCRIPT">
</BODY >
</HTML>
Ans <HTML>

<BODY>

<SCRIPT LANGUAGE="VBSCRIPT">

DIMA, B, C, Count

A=0

B=1

FOR Count=3TO6STEP1
C=A+B
document.Write (C)
A=B
B=C

NEXT

</SCRIPT>

<1BODY>

</HTML>

(*2mark each for correcting thefour errors)

(d) WritetheHTML codefor creating theform shown below:
Writetheembedded V Bscript codefor thedick event of the'Check Divigihility'
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button suchthat it displays 1if the First Number (number input inthefirst text
box) isdivisibleby the Second Number (number input inthe second text box)
and 0 otherwiseinthethird text box.

For example: if theuser inputs 10 and 5 in thefirst two text boxes, then 1
should bedisplayedinthethird text box, ontheclick of the" Check Divighility"
button.

First Number ‘ ‘

Second Number | |

Divisble | |

Check Divighility

Ans <HTML>
<HEAD><TITLE>DIVISIBILTY CHECK</TITLE>
<SCRIPT LANGUAGE ="VBScript" >
SUBB1 OnClick
DimA,B
A=FORM1.T1.VALUE
B=FORM1.T2.VALUE
IFAMODB=0THEN ORIFFORM1.T1.VALUEMOD FORM1.T1.VALUETHEN
FORM1.T3.Vdue=1
Bl
FORM1.T3.Value=0
END IF
END SUB
</SCRIPT>
</HEAD>
<BODY>
<FORM NAME="FORM1">
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<P>FIRST NUMBER<INPUT TYPE="TEXT" NAME="TI">
<P>SECOND NUMBER<INPUT TYPE="TEXT" NAME="T2">
<P>DIVISIBLE<INPUT TYPE="TEXT" NAME="T3">

<P>

<INPUT TYPE."Button" VALUE ="Check Divisbility" NAME ="B1">
</[FORM>

</BODY>

</HTML>

(*2mark for correct <FORM> tag)

+ (*2mark for creating textboxes using <INPUT> tags)

+ (Y2 mark for creating button using <INPUT> tag)

+ (*2mark for the correct <SCRIPT> tag)

+ (Y2 mark for associating subroutine with the button element)

+ (1 mark for correct conditional statement)

+ (Y2 mark for correctly displaying the output in the third textbox)

Answer thefollowing questions based on the unit Web Technol ogies:
(@ DeéfinethetermFirewadl.

A computer network firewall isan dectronic blocking mechanismthat will not alow

unauthorized intruders (people or messages) into acomputer system.
(1 mark for the correct definition)
(b) Expandtheterm FSF.
Free Software Foundation
(1 mark for the correct expansion)
(00 What arethefollowing software used for?
(1) OpenOffice
(2) MySQL
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Ans i) Office Tasks like word processing, Presentation Creations, Database
management etc

i)  Reationa Database Management System

(12 mark each for mentioning the correct usage of each of the two)

(d) Differentiate between Twisted pair cableand Opticd fiber cable.

Ans Twisted Pair cable Optical Fiber cable

1. Rdativelylow datatransfer 1. Veyhighdatatransfer rate(in
rate (inmbps) gbps)

2. Thistypeof cableisvery 2. Thistypeof cableisnot
susceptibleto electromagnetic susceptibleto electromagnetic
fidds interference

3. Transmissontakesplace 3. Transmissontakesplace
through e ectromagneticwaves through light pulses

4. Mog commonapplicationisthe 4. Most suitedfor LANswherehigh
telephonesystem quality of facilitiesisrequired

(2 marksfor anyone correct differentiation point)

€

Radio City hasset upitsnew center at Mumbai for itsofficeand broadcasting
activities. It has4 blocksof buildingsas shown in thediagram bel ow. Answer

questions (i) to (iv) in context of thefollowinglayout of thefour blocks:

T:__;;a::-"-";;ﬁ%__‘_h

RadioCi ty "l.\‘“
|

L

L

R.‘niinf_‘im

L

=
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Center to Center distance between various blocks.

RadioCity Ato RadioCity B 60m
RadioCity B toRadioCity C 75m
RadioCity Cto RadioCity D 175m
RadioCity Ato RadioCity D 250m
RadioCity B to RadioCity D 100m
RadioCity Ato RadioCitv C 75m

Number of Computersin eachwing

RadioCity A 50
RadioCity B 250
RadlioCity C 50
RadioCity D 100

()  Suggest asuitablecablelayout to connect dl the officesand namethetopol ogy

used.
Ans Layout 1: Star Topolgy

Yy B

RadioCity C

OR

Layout 2: BusTopology
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Ans
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RadioCity B

RadioCity A

RadioCity C

(*2 mark for the correct cable layout and %2 mark for naming the correct )
topology)

(i)  Suggest themost suitable placeto housethe server with proper justification.

Radio City B should bethe server asit hasthe most number of computers.
(*2mark for naming the place and ¥2 mark for the correct justification)

(i)  Whereand why repeaters should be used?

In case of Layout 1, repeater should be placed between building Band D asthe
distanceismorethan 75 Kms.

OR

In caseof Layout 2, repeaters should be placed between building C and D asthe
distanceismorethan 75 Kms.

(*2mark for naming the place and ¥2 mark for the correct justification)

(iv)  If theorganization needsto link thisbranch officeto another office Situated in
adigtant city (around 1050 Km) away where cable connectionisnot feasible,
then suggest an economic way to connect it with reasonably high speed?

Radio Wave OR Microwave ORTCP/ IP

(2 mark for naming the correct technology)

MULTIMEDIA& WEB TECHNOLOGY
QUESTION PAPER CODE 89

EXPECTEDANSWERSVALUE POINTS

(@ Whatisthedegreeandthecardindity of therelation EMPLOY EE given below?

TABLE: EMPLOYEE

EID EName EJoinDate EExper EPhone
EO1 Shayamli 10/08/07 10 22222101
EO2 Kushambha 19/08/07 5 22222202
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Ans Degree-5
Cadindity.- 2

(*2mark each for correctly mentioning the degree and cardinality)

(b)

Differentiate between design view and datasheet view with respect to adatabase.

Ans Design View

 fEaE . |
| i'%f"l] .

Datasheet View

1
|

1

Allowstheuser to enter raw

new tableor add, deleteor
customizethefiddsinan

1. Allowstheuser todefineeach
field, their datatypes, and datainthetable.
descriptionsinthetable.

2.  Theuser cancreateanentire 2. Theuser canadd, del ete, edit,

view or otherwisework with
thedatainanexistingtable.

exisingtable.

lame - n'.'llé_-'llﬁi'.l

! w23 Anju Saxana | OA1AEAE
1 154 Karan Sond 127141583

i i wbe | foi|voarz Tkt Sin AN 56

R DA TCON I |ve4s4 Shwela Ohir G504

(2 marksfor anyone correct differentiation point)

() LatestHitSationVideolibrary storesdataof dl available DV Dsonitsserver
inatable named HitMoviesinAccess. Study therelation HitMovies given
bel ow and answer thefollowing questions:

TABLE: HitMovies
MID| MName Director ReleaseDate| Releasing
Company

MO1 | LondonDreams Vipul Sheh 10/08/09 Joshua

MO02 | WakeUp Sid Ayaan Mukherjee | 19/08/09 Tringyan

MO3 | What'sYour Rashee Ashutosh Gowariker] 18/08/09 Harem

MO4 | Aladdin Sujoy Ghosh 15/08/09 Chahata

(1) Namethefieldwhich can act astheprimary key inthetable HitMovies.

461



http://www.pdffactory.com

ANs

Ans

Ans

ANs

ANs

ANs

MID can att asthe primary key.
(2 mark for naming the correct field)

(2) IftheReeasedetailsof themovie haveto bestored in aseparatetable (named
RELEASE), thenidentify any two fieldsfrom the above tablewhich should
beincludedinthetable RELEASE.

Thetwo fieldsto beincludedinthe Table RELEA SE areReleaseDateand, Releasing
Company

(¥2mark each for naming the two fields correctly)

(3) What typeof relationship exists between thetable HitM ovies and the newly
created table RELEASE?

One-to-One

(1 mark for the naming the correct relationship type)

(d) What aretheadvantages of Flash movieover animated GIF movie?
Advantagesof Flash over GlFare:

| A Flash movie can be stopped or restarted by the user whilein GIF user
interactionisnot possible,

| Itisvery easy to edit aFlash movie, whileediting of GIF animationisnot
possible.

(2 mark for anyone correct advantage)
(e Givethefull formof BMP.

Bitmap Picture

(2 mark for the correct expansion)

(f) Writeashort noteon SMS.

SMSstandsfor Short Message Service. Thisfacility dlowsusersto send and receive
short a phanumeric messages(approx. 160 characters) to amobile phoneviaa
network operator's message center.

(2 marksfor the correct explanation of SMS)
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Answer thefollowing questions based on MacromediaFlash:

(& Thenormal layer letsyou add content in aflash moviethat movesalong a
straight path. Name any two typesof layerswhich can help you to manipulate
the content onanormal layer and improvethe animation.

GuideLayer, Motion Guide Layer, Mask Layer
(*2 mark each for mentioning any two layer types)
(b) Whatistheuseof dividingamovieinto separate scenes?

Theadvantage of breaking amovieinto scenesisthat every scene can be accessed
individually and thusthe sequence or order of the scenes can be changed.

(1 mark for the correct usage)

() Enumeraethebenefitsof frameby frameanimation over tweening animation.

Frameby FrameAnimation TweeningAnimation

1.  Thisisaformof animation 1. Thisisaformof animation
where an object's appearance or wherethegtarting and finishing
positionischanged dightly from pointsfor the object to be
frame to frameto createthe animated aregiven and Hash
impression of movement. automaticdly fillstheframesin

between.

2. Thistypeof animationdlows 2. Italowslesscontrol over
greater control over changing changing content dueto
content acrossthe Flash automatic animation done by
Timdine Hash

(2 marksfor correctly explaining anyone benefit)

(d) Differentiate between Exporting and PublishingaFlashmovie.

Publishing Exporting

1. Publishingispreparingmoviefilesand| 1.  Exportingissavingamoviefilein

accompanying HTML codesfor different formatsto beplayed usnga
uploading movieson thelnternet. particular player.
2. Settingscan besaved for reuse. 2. Settingscannot be saved.
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3. A movieispublished onlyif the 3. AmovieisexportedfromFashonlyif
recipientsare expected to play it on therecipientsareexpectedto play it
theinternet using Hash using software other than Flash.
player (Publishingin other formatsis
asopossibe)

(2 marks fpr anyone correct differentiation point)

(e Observetheimagegivenbelow and do asdirected:

R

. 1 %

1 Theimageontheleft hand sdeshowsthe position and sizefor frame 1.
1 Theimageontheright side showstheposition and sizefor frame25.

| Assumethat theimages of butterfly and flower arestored inthe Flash
library by the name butterfly and flower respectively and the colour and
Sizeof theimageremansthesame.

| The curve showsthepath followed by the butterfly to reach from frame
1toframe25.

Writethe procedureand property settingsfor animating the above scenario.

Ans Thefollowing stepshaveto befollowed to animate the given scenario:
| Sdect frame 1fromthetimeineand insert the butterfly imagefrom thelibrary.
| Select theimageand placeit on theleft hand side.
| Select frame 25 from thetimelineand Select Insert —Keyframe

| Select the image and position it on the right hand side of the stage at the
desired location. Also insert theimage of therose.

| Select any framebetween 1 and 25.
1 Right click the mouse button and Select Create motion tween.

1 Sdect thelayer contai ning themotion tween. Right click and select Add Motion
Guide.

| Select the pencil tool from the drawingtoolbar and draw the path of motion.
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OR
Any other equivaent method.
(*2marksfor each step)

Answer thefollowing questionsbased onHTML :
(@ Differentiate between <HR>and <BR>tags.

HR standsfor horizonta ruleand the<HR> tag allowsthe user toinsert asection
break by inserting ahorizontal line. On the other hand, BR standsfor break and the
<BR>tagisusedtoinsert alinebreak so that the subsequent text isdisplayed ona
freshline

(2 marksfor the correct differentiation point)
Note: Only 1 mark to be awarded if only the full forms of the tag are given

(b) WritetheHTML codeto generate theweb pagein theformat shown:

B aCarde - Mozila Fralox » e

Eta Edit Yiew Higiory Bookmacks Tools Heip

L: Y soards. Fiml : . L, = Googhe
E-CARDS
oant Jtdeg,
O
R
. o [ | P | ..--‘
Cards is a website offering new and trendy cards for all nges. O

Categories of Cards Offered
l. General Carda
» Thinking of You
m Migsing You
® [riends Fomever
2. Specilic Curds
o Happy Birthday
o Hoppy Divwali
o Happy Atmiversary

You cun nlso order flowers through our site
PRICE LIST

| : |

| Bowgued Type Price
Flower Galone Ra. 20

| Flower Shower Hs. 300

I
| Flower Power | Hs, 400

P
@

Personglize Tha Cards

465


http://www.pdffactory.com

Consider thefollowing pointswhilewritingtheHTML code:
1.  Titleof thepageshould be"eCards’.
2. Background colour should be"Purplée’.

3. Textstyleof themain heading should be"Arial Bold" and colour should be
red.

4. Imageusedis”cardsjpg".

5. Tableshould have a5 pixel thick border of colour green and the spacing
between cell content and border is15 pixels.

6.  Usetheconcept of nested listsfor creatingthe specifiedlists.

7. Thebottomimage (link.jpg) and thetext "Personalizethe Cards' arelinksto
thepage"person.html”.

Ans <HTML>
<HEAD> <TITLE>eCards</TITLE> </HEAD>
<BODY BGCQLOR="Purple">
<FONT FACE="ARIAL" COLOR="RED">
<H2ALIGN = CENTER> E-CARDS </H2>
e-Cardsisawebsite offering new and trendy cardsfor all ages.
<IMG SRC=" cards.JPG" height =200 width=150ALIGN="MIDDLE">
<OL><FONT SIZE = +1 ><B> Categories of Cards Offered </B></FONT>
<LI> General Cards
<UL TYPE="square">
<LI>Thinkingof You
<LI>MissngYou
< LI > Frieds Forever
</UL>
<LI>Specific Cards
<ULTYPE="circle">

<LI>Happy Birthday
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<LI>Happy Diwdi
<LI >HappyAnniversary
</UL>
</OL>
You can aso order flowersthrough our site

<TABLEALIGN = CENTER BORDER=5 BORDERCOLOR = "Blue' CELLPADDING=15>
<CAPTION><FONT COLOR ="BLUE">PRICELIST </CAPTION>

<TR>
<TH> Bouquet Type</TH>
<TH>Price</TH>
<TR>
<TD> Fower Galore
<TD>Rs. 200
<TR>
<TD> FHower Shower
<TD>Rs. 300
<TR>
<TD> Flower Power
<TD> Rs. 400
</TABLE>
<BR>
<CENTER>
<A HREF="person.html"><IMG SRC="link.jpg" hel ght=50 width=50> <BR>
Personalize The Cards<I A>
</BODY>
</HTML>.

(“2mark for correct use of <HTML> and <BODY> tags)
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+ (¥2mark for correct use of <TITLE> tag)

+ (2 mark for body background colour)

+ (Y2mark for mentioning the correct font type and color)

+(¥2mark for displaying the heading correctly in center)

+ (%2 mark for correctly creating the nested list)

+ (Y2mark for making table border 5 pixel thick and bordercolor green)
+ (2 mark for making table cellspacing as 15 pixels)

+ (*2mark for giving table <CAPTION> )

+ (1 mark for correctly creating the table)

+ (*2mark for displaying the linksin center)

+ (2 mark each for correctly creating the link on the image and the text)

Answer thefollowing questionsbased onASP:

(@ HowisanASPfiledifferentfromasmpleHTML file?
ThemaindifferencesbetweenaHTML fileand anASPfileare:

| HTML filesare static web pageswhileA SPare dynamic web pages.

1 HTML filehastheextension. htmor . html whileASPfileshavetheextension
.asp.

1 When auser requestsaHTML file, the web server sendsthe HTML file
directly totheclient without any processing whiletheA SPfileisfirst executed
by theA SPengine and converted into HTML code before sendi ngitto the
dient.

(12 mark for anyone correct differentiation point)

(b)  Which method of the RecordSet Object will you useto move the cursor
directly tothefirst record intherecord set?

MoveFi rst
(2 mark for naming the correct method)
(c) How istheConnection object different from the RecordSet object?

The Connection Object isused to connect to adatasource. Through the connectfon
‘obj ect, one can access and manipul ate adatabase whilethe . Recordset object is
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used to hold aset of records from adatabase table. A Recordset 'object consists of
rowsand columnsinwhich thedataisstored in an organized manner.

(2 marksfor the correct differentiation point)
(d) Identifythefallowing:

(i)  TheASPobject which storesinformation needsfor aparticular user
session.

()  TheASPcomponent used to keep track of the number of visitorswho
havevisited theweb page.

@iy  TheRequest object collectionthat will beusedto retrieveinformation
submitted by theuser inaform using GET method.

1. SessionObject
2.  PageCounter
3. QuerydringCallection
(2 mark for each correct answer)
(e Givetheoutput of thefollowing satements:
() Responsewrite(FALSEAND NOT TRUE OR TRUE)

()  Responsewrite(LEFT("With Multimedia',5)
& UCASE ("LifeisFun"»

(i)  Responsewrite((4 - 3)* (6/2-3))
i) True
i)  WithLIFEISFUN
i) O
(2 mark for each correct answer)
Note: ¥2mark to be awarded for each part if the steps showing the working
are correct but the final output iswrong
Answer thefollowing questionsbased onASP:
(@ ExpandthetermlIS.
Internet Information Services

(1 mark for the correct expansion)
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(b) Differentiate between AdRotator and ContentRotator componentsof ASP.

Ans The ASP AdRotator component which can be used to display a different
advertisement in theform of animage eachtimeauser entersor refreshesapage
whiletheA SPContent Rotator which canbeused to display different HTML content
string each timeauser entersor refreshesapage.

(2 marksfor the correct differentiation)
() Predicttheoutput of thefollowing code:
<Script Language="VBScript” >

DimA,B

A=2

B=20

DoWhileA<6
Document.Write(A+B)
A=A+1
B=B-2

Loop

</Script>

Ans 22212019
(*2mark each for the four numbersin the output)

(d) Rewritethefollowing codeafter removing errorswith each correction under-
linedt:

<BODY>

Thelogin nameentered by theuser is:

<%

pass= RESPONSE.QUERY STRING (“ password”)
%>

Thepasswordis:

<%
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If pass<>“enter” then
REQUEST.WRITE (Invaid)
Otherwise
RESPONSE.WRITE ("Vaid")
end
%>
</BODY>
<BODY>
Thelogin nameentered by theuser is:
<%
pass= REQUEST.QUERY STRING ("password")
%>
Thepasswordis:
<%
if pass<>"enter" then
RESPONSE.WRITE("Invaid")
ELSE
RESPONSE.WRITE ("Vaid")
EndIF
%>
</BODY>
(*2mark each for correcting any four errors)

(e WritetheASPcodethat will read thetext file named friends.txt, count the
number of linesin thefileand thendisplay thesame.

<%
count=0

Set Fobj = Server.CreateObject (" Scripting.FileSystemObj ect™)
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Set mFile= Fobj.OpenTextFle ("multi.txt")
DowhileNOT mFile AtEndOf Stream
mFleReadLine
count = count + |
Loop
Response Write("Total linesinthefileare: & count")
mFleclose
%>
(*2mark for correctly creating the file system object)
+ (2mark for opening thefile)
+ (Y2 mark for the loop)
+ (*2mark for reading the line)
+ (Y2mark for incrementing the counter)

+ (*2mark for displaying the number of lines)

Answer thefollowing questionsbased on VBScript :

(& Nametheeventtobeusedinthefollowing Situations:
(i)  Toperform anaction whenthebutton gainsfocus.
(i)  Toperforman actionwhenabuttonisclicked.

i) Onfocus

i) OnClick

(2 mark for each correct answer)

(b) Rewritethefollowing codeusing DO WHILE instead of FOR loop without
affectingtheoutput:

<HTML>

<BODY>

<SCRIPT LANGUAGE ="VBScript" >
DIMA, B, C, Count
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A=0
B=1
FOR Count=3TO 10STEP 2
C=A+B
Document.Write(C& " ")
A=B
B=C
NEXT
</SCRIPT>
</BODY>
</HTML>
Ans <HTML>
<BODY>
<SCTRIPT LANGUAGE ="VBScript">
DIMA, B, C, Count
A=0
B=1
Count=3
DOWHILE Count <10
C=A+B
Document. Write(C&."")
A=B
B=C
Count=Count+2
LOOP
</SCRIPT>
</BODY>
</HTML>

(%2 mark each for writing the mentioned underlined lines correctly)
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©

Givethe output of thefollowing code:
<HTML>
<BODY>
<SCRIPT LANGUAGE="VBSCRIPT" >
DIM Num, Flag
Flag=0
Num =10
FORA =2TO Num/2
IFNumMODA=0THEN
DOCUMENT.WRITE (Num+ 1)
ELSE
DOCUMENT.WRITE (Num- 1)
END IF
NEXT
</SCRIPT>
</BODY>
</HTML>

Ans 119911

(*2mark for each correct number in the output)

(d)

Input Number |

Check Divisbilityby |

Divighility Result

Write the HTML code for creating the above displayed form. Write the
embedded VB Script codefor theclick event of the'Divisibility Result' button
such that it displaysamessage box based on whether the number input inthe
first textbox isdivisibleby the number input in the second textbox according

tothefollowing criteria

474



http://www.pdffactory.com

| If number isdivisiblethen messagedisplayedis"Wow! | belongto
your family”

1 If number isnot divisible then messagedisplayedis"Let'slook for my
friends’

Ans <HTML>

<HEAD><TITLE>DIVISIBILTY CHECK</TITLE>

<SCRIPT LANGUAGE="VBScript">

SUB B1 OnClick

DimA,B

A=FORM1.T1VALUE

B=FORM1.T2.VALUE

IFAMOD B=0THEN OR IFFORM1.T1.VALUEMOD FORM1.T1.VALUETHEN
MSGBOX ("Wow ! | belong to your family")

Else
MSGBOX ("Let'slook for my friends")

END IF

END SUB

</SCRIPT>

</HEAD>

<BODY>

<FORM NAME ="FORM1">

<P>INPUT NUMBER<INPUT TYPE="TEXT"NAME="T1">

<P>CHECK DIVISIBILITY BY <INPUT TYPE="TEXT"NAME="T2">

<P>

<INPUT TYPE="Button" VALUE ="Divishility Result" NAME="B1">

</[FORM>

</BODY>

</HTML>
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Ans

ANs

ANs

ANs

(*2mark for correct <FORM> tag)

(*2mark for creating textboxes using <INPUT> tags)

(*2 mark for creating button using <INPUT> tag)

(*2mark for correct <SCRIPT> tag)

(*2mark for associating subroutine with the button element)
(1 mark for correct conditional statement)

(*2mark for correctly displaying the output in the message box)

Answer thefoll owing questions based on the unit Web Technol ogies:
(@ Definetheterm Cyber Law.

It referstotheset of lawsgoverning theusageof cyberspace/ Internet. It encompasses
awidevariety of politica and legd issuesrelated tothe Internet.

(2 mark for the correct definition)
(b) ExpandthetermWLL.
WirelessLoca Loop
(2 mark for the correct expansion)
(00 What arethefollowing software used for?
()  ApacheTomcat
@) MySQL
i) Web Server
i)  Reationa Database Management System
(2 mark each for mentioning the correct usage of each of the two)

(d) Differentiate between Twisted pair cableand Co-axial cable.

Twisted Pair cable Co-axial cable

1. Rdativelylowdatatransfer 1.  Compardtivey higher data
rate transfer rate

2. Thistypeof cableisvery 2. Thistypeof cableisless
susceptibleto el ectromagnetic susceptibletointerference
fidds
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3. Mogcommonapplicationisthe | 3.  Widely usedfor cable
telephonesystem tdlevison

(2 marks for anyone correct differentiation point)

() ProActor School of Actingin Mumbai is setting up the network betweenits
different wings. There are 4 wings named as SENIOR(S), JUNIOR(J),
ADMIN(A), and HOSTEL (H).

Distance between variouswingsare given bel ow:

WingAtoWingS 100m
WingAtoWingJ 200m
WingAtoWingH 400m
Wing StoWwingJ 300m
Wing StoWingH 100m
WingJtoWingH 450m

Number of computersin eechwingisasgiven below:

WingA 10
WingS 200
WingJ 100
WingH 50
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()  Suggest themost suitabletopology for connecting thesewings.

3 :

Star Topology

o

A

(1 mark for the correct topology)

(i)  Suggest themost suitable placeto housethe server. Justify your choice.

Ans Wing Sasit hasthe maximum number of computers

ANs

Ans

(*2mark for the correct name and %2 mark for the justification)

(i)  Where and why should repeatersbe used ?

Between SandA, Sand J, Sand H asall the distancesare greater than 75 m
(*2mark for the correct placement and %2 mark for the justification)

(iv)  Thesecond branch of theschool situated inahilly regionisto belinked with
itsheadquartersin Mumbai. Suggest the most economical way to connect it.
The organization isready to compromise onthe speed of connectivity.

Radio WavesOR TCPF/IP

(2 mark for the correct transmission medium)
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